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ECONOMICS

’ A ARA
PAPER—II
W2 uA—II |
Note :— This paper contains fifty (50) multiple-choice questions, each question
carrying two (2) marks. Attempt all the questions. .
AT - A wsWH wwR (10) aglsedly wsdl 8. 85 wsL A(R) @
8. ofl Uil G Qvil,
1. The Indifference curve approach to consumer’s behaviour is based on :

(A) Strong ordering-

(B) Weak ordering

(C) Cardinal utility hypothesis
(D) None of the above

de as e Gueilsdaill adgls
(A)  dUSA wgsH uald

(B) wUsd dsH Ugld

© yalquMd 2iBd GuuiPidl
@) Gu-unidl s wa gl

W ualRd 8.

If the two commodities, X and Y are perfect complements then the indifference
curve would be : ' ”

(A) Downward sloping straight line

(B) Downward sloping convex to the origin

(C) Downward sloping concave from below

(D) L-shaped

B X A Y A yel ys axgail ¢lu di a-ll dery ag Jeu-l s
@A) 0A ds eadl Al Jvn e

@) Al efotln Al as e

(©) DA w-dlln waRil a5 e

D) L-vist+l 3wy ¢4,
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3.  Edgeworth’s .contract curve .is a curve that :

(A)

(B)
(€)

D)

joins the points of tangenéy between the two indifference curves of the
two consumers buying two commodities
joins the points of tangency bétweep indifference curves and price lines

joins the points of intersection between the two indifference curves of

~ the two consumers buying two. commodities

Nqne of the above

'Mogae’ 5AY ML (contract curve) W Ivil € 5

(&)

B)
(©)

D)

A drgall wRleiz & Guellsdizi-l & desd as Jvuviial wel Bigia
NS L

Bud Jvuil 2R dee a5 JuualiAr 2l Bigutid As 8

A aagdl wedl A Guellsaii- & dew asduir Aselloan Sect [Bigiia
RS B

Guarusidl As e -l

4.  Ridge lines are the locus of points of isoquants where the marginal products

of the factors are :

@
®
- (©
®

Negative

 Positive

Zero

Infinite

A% @isH (Ridge line) 3 vl B ¥ WHGAUE o5 (isoquant) «i (Big o waud
® oui wa-dd dird Gewet |

(&)

B)

- (©

. D
Eco.—1I
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‘eid (infinite) €
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5. A monopolist producing homogeneous product in two different plants maximises

| his profits when :
\ (A) MC, = MC, = AR
(B) MC; < MC,
‘ (©) MC, > MC,
\ ®) MC,; = MC, = MR o |
§ SmMRALR A ARl @&um, & Lo Sl Sl Al Al Mo Ul
| Yy 9 AR
} " (A) MC; = MC, = AR
‘ (B) MC, < MC,
‘ (C) MC; > MC,
@) MC; = MC, = MR

6. For an industry that grows ‘with constant costs the long run supply curve
will be :

(A) A straight line parallel to the quantity axis
| (B) A straight line parallel to the price axis |
(C) An upward sloping straight line
D) A‘down‘ward sloping straight line’
¥ Gadl RU allddl s11 53 © dell diol duou-dl Yasl as
(Aj %2l W& (quantity axis) Q{HiﬂdQ vl &
. (B) [(Bud & YHd v B
‘ © Gux wdl wra B
O A sadl A Ju V.
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In an economy. producing two goods, X and Y; using two inputs L and K and.
having two. consumers, A and B, Pareto. Optimality is achieved when :

(Aj - MRS{ y = MRSR y
(B) MRS§ y = MRTSE ¢ = MRTSY ¢
(C). MRTS¥ = MRTSY
D)’ MRS{ y =MRSE y; MRTSf i = MRTSE,K and MRPTyxy =
MRS% = MRS ¢y ‘
| [Noté : -MRS_X,Y = Marginal rate. of substitution between X and Y
MRTSp g = Marginal rate of technical substitutibn between L & K

MRP'I‘X,Y = Marginal rate of product transformation_b\etweén X and
Y] '

% weldoAMi A A B & Guoliscivil ® v 2l L 2 K & wa-d ad X %A

Y A cargaiin GewfRd sl 20 8 &l A2 xgsn wRRala (Pareto Optimality)

A wHd ud suMl a8,

(A) MRS}y =MRSEy

(B) MRS}y = MRTSE ¢ = MRTS] ¢
(©) MRTS¥ g = MRTS{

D) MRS, = MRSE ,; MRTSE ; =MRTSYy  and MRPTyy =
MRS% ¢ = MRS 4 “

[i9 : MRSyy = X » Y a2l ctedl-l fluia €2
MRTS[, g = L %7 K a2l o518l oeel-l Al ex

MRPTyy = deiul uRad--i ldid €3]

Eco.—II | 6
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The Phillips curve establishes a relationship between :
(A) the rate of inflation and the unemployment rate
(B) the rate of inflation and growth of money supply
(C). the rate ofv growth of labour force and unemployment
(D) the rate of growth of GDP and unemployment
Bl a5 (Phillips curve) : :

(A)  gaUdldl 83 A AL &3

(B) &audldl 82 v Ul yrasidl qls

© aBis qlatl e 2wt AUl

D) &4 43¢ Gcwed (GDP) -+l ql& e 2 Aledusl
Q] Aoit AU 53 B, -

National Income is equal to :

(A) GNP - depreciation

(B) NNP - indirect taxes

©) Personal income — personal tax and non-tax payment '
D) Personal outlays + personal savings

Al vas 9

(A) us® U Gevle (GNP) — 4R\ (Depreciation)

(B) Y& WU Gcwerl (NNP) — uR& $2 (Indirect tax)
(C) ABddd was — ABdAd 52 w4 52 qong Qi,omm
@) ABdad Wi + Aldod sad. |
Higher the value of the marginal propensity to consume :
(A) Higher will be the value of the investment multiplier
(B) Lower will be the value of the investment multiplier
(C) Constant will be the value of the investment m‘ultiplier
(D) None of the above ' ' ' '
Alnid Guellon U9l 3ed A Al €iu dl

(A) USRS Yeu am ¢

(B) AUslel s yeu «ly oA

(© st yasd yeu Rar ol

@) Guaniell vis wa -l N

Eco.—II 7 . PpTO.
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11.  Whenever there is an excess demand for money :
(A) The interest rate stagnates ‘
(B) The interest ‘ravte falls
(C) The interest rate rises
(D) - None of ‘the above
ARlidl nlas Hio pul €ln B ceuz :
(A) -l e Rur W6
(B) ¥l e 82
(C) el e al
@) Guanidl s ua A wy

12. Real interest rate is :
(A) The interest rate of money in terms of money
(B) The ratio of nominal interest rate to the Bank rates
(C) The nominal interest rate minus eiq')ected rate of interest-
(D) The nominal interest rate minus the rate of inflation
ARefas iy e+l
(A) UL Y B AuRiHD €l
B) G5 e wRifle Y e V4UAHL Sy
(O ~umisly ouw el g Alr-i e el
M) uisly e enidl @ucu'u ER TR
AU Yy B,

.13. An expansionary monetary pohcy

(A) shifts the Aggregate Demand (AD) curve to the right
(B) shifts the AD curve to the left‘
(C) - has no effect on the AD curve
(D) None of the above
Cg[a%d AlLisly (expansioriary monetary) -lla :

(A &4 Hioll asqd wuell sy WAidR s
(B) sa uid-dl asd sl suy @wAid 53 B
©) s Hidl asui SIS mA sl A2l
D) Gumidl s wa Adl.

Eco.—II | 8
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15.

In the Keynesian. region, where the Aggregate Supply Curve is. relatlvely_
flat, a monetary expansion :

(A) has its primary effect on real output with only a small effect on prices
(B) has its primary effect on prices with only a small effect on real output
(C) has no effect on real output and prices

(D) None of the above

3l Guowdi i sa yrast as wla d Awe eid AR -utseuélq 2R
agquL-l

(A) e A ARAS Gewed ur, [Bud warl »iiel 2z, Wl Sy
(B)  Hvd wA [Bud uR, arafls Gouert u+l vl v Wwd, S
© aARARSs Geulet A Bad U s AR acdl

D)  Guumill s wa -l

€9
2

Labour saving inventions :

(A) increase profits relative to rent

(B) increase wages relative. to rent

(C) increase wages relative to profits

(D) increase profits relative to wages

AH oA Wl

A)  oust-{l uvuHelML sl ARl s 8 _
B) oust-l avuxeldi alsi-l gl auRl s Y

(© sl uvumelHi afisi-l 1yl Rl s 8
1)

16.

@) s oAl AvuHelul sl asRl 52

Private saving and government surplus equal :

(A) Domestic investment plus net foreign investment

(B) GDP
(C) NNP :
(D) None of the above

o sad 2wkl sise ool BIRAGR

(A) 3G SR Al Y& (Net) [ARall s
(B) Asd 83y Gewe (GDP)
(C) Y& Y Gwe (NNP)
D) Gu-usigl As o dl.

Eco.—II 9 | - PTO.



17.

18. .

19.

The consumption function relates :
(A) The level of consumption to the GDP

(B) The level of ,co'n_sximption to national income

(C) The level of consumption to the level of. disposable income
D) The level of consumption to NNP

Gueidl (A8 (Consumption function)

A) ust Guedaedl wwd A usA 4y Geuled

B)  Asu Gueldlll AW i WdlU wds

(©)  usn Gueid-ll AW A Guasy was

D)  As0 Gualldll AWl A ya AU Geule
a2l Aele vld 8. |

The multiplier model explains .

(A) The working of aggregate supply

(B) The working of aggregate demand

(C) The investment decisions of the government

D) The savmgs behaviour of households

Jals Hise - -,
@A) sa4 yras s , R /
B) &4 wid sl o o -

(C) UL st W+l wely

D) ulg oAd adgis

@il e Y3 wd 8.

A speculative bubble occurs in-a stock market when prices rise because :

~ (A) People think they are going to rise in the future

(B) The profits of companies are rising

(C) The dividends of companies are soaring

(D) The fundamentals. of companies. are stronger
Q0120240 Azl WU Ged & wud AL eudl
A) ds R 9 ¥ el AR\ sudl qusl

B)  su-laiidl siueil 4 9 ‘

© Sullaii-u Sldiswsu Glal oy &

D)  su-dlaiql wal wwod &9

W osRRAR A8 B,

Eco.—I1 v 10



20.

21.

22.

A price follows a random walk when its movements over time are :
(A) Completely predictable

(B) Completely unpredictable

(C) Predictable with great reliability

(D)  None of the above

Buddl sfABad afd du & 2l d-dl AHALAR §018d

A)  yeld: A4 Siu &

B)  yeld: BivsguuHd ¢y 8

©) Rzaus v4uRd sid 8

D) GuArdl ¥s wa «dl |

According to the Keynesian school the aggregate supply curve is :
(A) Relatively flat in the long run |
(B) Relatively flat in the short run

(C) Vertical in the short run .

(D) Not known in the short run

Sy A WA Yasl as

(A) Aol AHY M2 AuUldHl AW Sld &

(B) 251 UMY HIZ AUIdH AU ¢l ©

() 5L AHY U2 do3Y 8l O

D) 25 AHUHL N8 ¢ld ©.

The measure of poverty that incorporates inequality in income distribution

‘amongst the poor was developed by :

(A) A. K. Sen

(B) Minhas B. S.

(Cy Planning Commission

(D) Dandekar and Rath

Aol Hunl Aot 2uast 2 Qdw-l wu&at
(A) 2. 3. A7

B) ofl. AA. H{ed

(C) iy i

D) iS5 wA za

Eco.—II , 11 - | P.T.O.




.23.

94,

25.

In the Physical Qualityof Life Index which of the following variables is not
included ?

(A) Life expectancy at birth

(B) Adjusted per capita income

(C) Infant mortality rate

(D) Literacy rate

oflfus opeL vy MZasui A Al (Variables) “iell élru AHAL SAUHL Ll
1yl 7

(A) %Al AHA DA AAAdL

C(B)  AMYSd (adjusted) HAELS dUAS

() oud 3y & » - ,
D) WAL €]

The unlimited supply of labour model of growth was developed by :
(A) Arthur Lewis

(B) Schumpeter

(C) David Ricardo

(D) Karl Marx

A MA X yrasid Qs WS

@A) 2ne ¢sA

B) yxle?

(©) &dls Rsista

M) sid s

sl s ©

India’s Second Five Year Plan model was mainly developed by :
(A) A. K Sen :

(B)  Mahalanobis:

(C) Sukhamoya Chakravarty

(@) B. S. Minhas

cnrarl ofley quadly dix-id HWsd gutca

(@A) . 3. A4
S B)  Helariold

(©) YuHa asadlx
@) ofl. xy. {~sA
RsAld sd ©.

Eco,—II | 12




26.
Ay 927
(B) 1036
(C) 1790
| (D) 934 ,
) AARUAHL 2001 AL A Yot dlon Aauidg U
(A) RO
B) 103§
(G 9o
D 3%
27.  According to the Harrod-Domar model the growth rate of GNP is determined :
(A) jointly by the national saving ratio and the national capital output ratio
(B) by the growth rate of capital relative to the population growth
(C) by the structural transformation of the economy :
(D) by the extent of state intérvention
SUS-SlHR Hide HHl usn WY Gewe-dl q& €2
- (A) %ig&d‘{':l ALY oA UL A ALY HSl Gouledt uHW
(B) #SlHl s e axdl qaiiqdl e+ :»{-J,umm
(C) ddatd @A-s wWRadA
D) UL é%rt&ﬂl:l, 4L
ol ssl Wy 6.
28. The annual average growth rate of per capita NNP (at 1993-94 prices) during
the eighth plan (1992-97) period was :
A) 4.6%
B) -8.3%
©C) 3.5%
D) 5.3%
sl duavly o (eei—eo) na ald Ya A @c‘-ll&*t"ll AW
s g2 (Qeed—ecy Al Budl uwr)
A Y¥.§5%.
~— B) -—-<¢.3%
(C) 3.u%
D) \.3%
sl -
Eco.—II ' 13 , | P.T.O

The sex ratio in Gujarat as.per the 2001 census 1is :



29.

30.

31.

Indian exports from 1992-93 to 1999-2000 grew at an annual average rate
of : ‘ '
Ay 7.4%

(B) 10.1%

(C) 8.3%

(D) 3.3% , : _
U —3 Yl 1ee—2000 423 eitd-dl Mgl 1w wlls qla €2
(A) 9.%%

B) 10.%
(C) <¢.3%
D) 3.3%

The Chairman of the Planning Cominissiop is always :
(A) The President of India

(B) The Prime Minister

(C) The Finance Minister

(D) None of the above

ALY UAAL ARAA SLUH R

(A)  HRAL Ul iy ©

(B) dASIMEU €U &

(C) el ¢l 8 .

D) Gu-uHigl sidu Al i,

India’s national income was estimated for the first time by :
(A) V.K.R.V. Rao

(B) Dadabhai Naoroji

(C) R. C. Dutt

(D) Mahadev. Govind Ranade

Gllddl Al MU Quid ALY dLdsHl el
@ dl. 3. . 4l |

(B) sleleild a3l

(€ R, A ed

D) Hsiza dllfde AASH

2L

Eco.—II - 14



32. Which sector has the highest share in India’s national income presently ?
(A) Agriculture
(B) Industry
(C) Tertiary
(D) Foreign trade
gladl ota-dl A iasHi WUl ay sl sul dsil © 7
a) B an .
(B) Gelidl &t
©) Qcﬂll (tertiary) &
@) [@ea 2w

33.. The Brain Drain theory for India was advocated for the first time by :
(A) Jagdish Bhagwati .
(B) Dadabhai Naoroji
(C) Sukhamoya Chakravarti
D) - A. K."Sen :
A Sl Rigidr uddl avid ol mé
(&)  wigla eadla .
(B) sl AdjiwA
()  Yuru Asadlx
@) . 3. A1
AL

34. The Law of Rising Pubhc Expendlture in 1880 was given by :
(A) Adolph Wagner
(B) A. Peacock
(C) Hugh Dalton
(D) James Buchanan
qadl ¥di AR WA [Htm& 1¢co Hi
(A)  ASIes AAAR
B) . si3
(C) &3 sieert
D) FRA oA
AL

Eco.—II 15 ) , P.T.O.



35. The incidence of tax cannot be shifted in the case of :
(A) Income tax
(B) Sales tax
(C). Excise d_uties'
(D) All of the above
s ofla GuR
(A)  dUSHL
B) QAL dHL
(©) sl wsidul
®) Guniel udaui
wASLAL el

36. Budget deficit is the difference between all revenue and expenditure of :
(A) Revenue account only , (
(B) Capital account only
(C) Both revénue and capital accounts
(D) International liquidity account
el watrll vue (Budget deficit) lds i a5 qvlvu dsldd
A)  uas viddl 9
B) ¥sl vl 8
(C)  U9$ vildl A YL vildMi AYSAUL 6.
@) idAEA vadl vl §.

37. + The Chairman of the Eleventh Finance Comm1ssmn is :
(A) 'Y. B. Chavan
(B) K. C. Pant
(C) Man Mohan Singh
D) Raja Chelliah
O Al AL A4
Ay  w.ofl. qust
@) 3. Al da
(© s Ris
D) U A4yl
8.

Eco.—II - 16



38.  Which of the followmg is not 1nc1uded in the current account of the balance
of payments ?
(A) The export of goods and services
(B)  The import of goods and services
(C) Capital inflows
(D) Government grants
Al Al Aw sl Axge- -'aucg wicdl 2 adl Al 7
(A)  ARg A Aadi-l Fs
B) dxd A Al duad
(C) HslHl [Qzuxidl 2anl nas
D) AW et

'39.  The concept of Reciprocal Demand’ is associated with :
A) J. S. Mill
(B) Ricardo
(C) Keynes
(D) Marx
RAblse slus'H{l [@Qeuari
@A) %. AA. Ha
(B) sisl
(C) 35
D) - WA
Al A A AsuAdl 9.

‘40.  The secular deterioration in terms of trade of developing countries was first
propagated by :
(A) . Singer-Prebisch
(B) Jagdish Bhagwati
(C) Rybezynski
. (D) Haberler
Al uan quid Q@siuella sl €. 3l6ﬂ'1 il wdini mqowarﬂ dAld
A)  H—Aeflen '
B) wotela oadlm
(€) ofl=sl
D) 8eRel

53, ‘ |
Eco.—II . 17 _ P.T.O.



41. -

42.

43.

Improvement in the Gross Barter terms of trade :

(A) alwvays results into an improvement in the welfare of the society
(B) always results into a deterloratlon in the welfare of the soc1ety
(C) no effect on the welfare of the society

D) (A) or (B)

Al ole MU s 2540 Yl :

A)  wdalis scnani R ARl s 9

@B) wdxs scpmul dl gast 53 8

© wdals senm 4 siS wU sdl Al

D) (A) 4L (B)

The formation of SAARC is an example of :

; (A) Free Trade Area,
(B) Customs Union.

(C) Economic Union

(D) None of the above

ALS (Raler (Al s (me,zet o
(A) Y5 AWR &

(B) Yes AY

© ulds Ay

®) Gu-uniadl s L -dl.

GATT was replaced by WTO in :

(A) 1992

(B) 1995

C) 1997

@) 2000 ~ o

Qs ey AL (WTO) GATT o et 1A adai dly -

BA) e | .
(B) e -

© 1ceo )

(D) ROCO

Eco.—I1 ' 18
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44. To reduce inequality in the distribution of income the government should
go in for : ‘
(A) Progressive taxation
(B) Regressive taxation
(C) Proportionate taxation
(D) None of the above ;
a5l [AARBHL 2AMIAAL HISAL HIZ ARSI
@A) woladlla s
(B) gedl $3
(C) UHIRAR 52
@), Gua-udidl As un -4l

45. The mean of the binomial d1str1butlon is

(A) np

B) npq

(©) Jnp

(D) Znpq

o -idlud Slz;lf»gamg AU (mean)
(A) np

B) npq

(€) Jnp

(D) Znpq

£9.

46.° The coéffi_c_ieht of variation of X is :
(A o©,/X-100

. 2
c
2x .1
(®) (X .OO)

@ ©°: X

(Note : o = Standard deviation)

X -l (Rl 9)Rlis (Coefficient of variation of X) :
(A o,/X-100 .

B) (X,-X)2/n
) 2
Cy..
(C) (-_—X— 100)
@) ©. X
('ﬁ?{ : o = Standard dey'iation) v |
Eco.—II . | 19 . - PT.0.
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47. The value of the coefficient of correlation lies between :
‘ (A) "0 to +1 ‘
B) 0 toow
(€) -1 to +1
D) -1to0
Aol daisdl Bud
A o 94l +4
B) 0 dl
(©) —1 4l +1
M -14o0
Al 42 €lu 9.

48. Paasche’s Index number is

2p1‘11

- 100
2poa;

(A)
2pq,
——-100

(B) Pods

Ip(qy + q,)
Zpo(q() + ql)

(D) \/Zplql . z“plq() - 100
Zpyq, XPoq; .

(®)) 100

WAL YAus 215 O

Zp,q,

171 .100
2Poq,

(A)

2p,q
—=—-100
(B) =podo

Zp,(qy + ;)

100
© Zpo(Qo + ql)
Ipq; P9y
D) le Lo 100
Lo, Podq

" Eco.—II 20



49. To test the significance of the regression coefficient, one has to use

(A)  x2-test
(B) t-test
(C) F-test
(D) Z-test

Yo delis-l welsdl duial e

&) g
(B) t-2
(C) . F
(D) Z-o

QUL S €9

50. The measures of central tendency do not include :
(A) Geometric mean
(B) Harmonic mean
(C) Arithmetic mean
D) Standard deviation
‘:‘svﬂz{ HCLRL%&. (Central tendency) +il HIUHL
A) wUEZls H
®) siuldls {4
©) A5 i
D) 2arsé 3l

Al AL Adi Aefl.

Eco.—II | 21
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